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1) [3 Marks] If the survival function is given by s(x) = (;%1-) for x = 0, how much longer can

a 43 year old expected to live, as measued by complete life expectancy?
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2) [4 Marks] You are given the following information from a life table: T s
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i) Lo, = 1000 and Loz = 825. = P - Oy 28y ook

iii) Deaths are uniformly distributed over year of age.

Calculate the probability that (92) dies between ages 93 and 95.5.
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3) [3 Marks] For a 2-year select and ultimate mortality model, you are given:

D G = 095G, Ve ser F o7 (1=27790)
ii) l76 = 98.153 S TS \ 2 7
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8) [3 Marks] A person aged 20 buys a special five-year temporary life annuity-due, with payment

of 1,3,5,7 and 9. You are given: -
. ),u[v‘:ﬁ.'ﬁl~\+b§g‘zu

D) dyoq = 341
i) Gy ~ 3.04

iii) (14),05 = 8.05
iif) (1a),5 = 717
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Find the APV of this annuity - -
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9) [4 Marks] For a special insurance is designed to pay a benefit in the event a product fails. You
are given:
i) Benefits are payable at the moment of faillure.
i) b ___{300, 0 <t<25.

t 100, t = 25.
i) u, = 0.04, t = 0.
V)6, = {0.02, 0<t<?25.

0.03, t > 25.

Calculate the APV of this special insurance.
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10) [3 Marks] You are given:
)i=6%

ii) 10E40 = 0.540

iii) 1000440 = 168

iv) 100045, = 264

Calculate 1000,,P(440), the net premium for a 10-payment fully discrete life insurance of 1000

on (40).
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11) [3 Marks] You are given:

. 0.92k
D gk+19x = e

)i =8%
iii) The force of mortality is constant

Calculate 1000(P(4, ) — P).
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